297M & 297N Mounting Bracket
l Installation Instructions

HAGER 1-TA01366

COMPAMNIES

297M - Mounting Bracket for Soffit Width of 7/8" to 2-1/4"

Contents: 297M
QTY:
1. 297M Mounting Bracket 2

2. #10-24 x 2" Flat Phillips Head Machine Screw
3. #8-32 x 1-1/2" Flat Phillips Head Machine Screw | 4

34 Minimum 3% Minimum
— — ]
[s2.6] [82.6]

NOTE: BAR STOCK (NOT INCLUDED)
‘WITH THRU HOLES MUST BE
INSTALLED TO FILL IN THE GAFK o Door Frame

T .
L \ <_‘ [zi.z] . L [522] ]

|.—Door Frame

3 13
[418-5] ’/—Door [41%5] )ﬁDoor
D J T f
297M 297M
Door Door
Coordinator — Coordinator
Soffit Soffit
Door Coordinator Door Coordinator
Strike Strike
Figure 1
L ¥
41.5
15.
- 16 -
- 5" _ 4.0
126.8] S
16 - —
8.0
1 1 i 1 1 1
125+ —2x #8-32 x 1-1/2" Flat 13-
2w 32 Phillips Head Machine . 114
3, 22 [4s0 Screw 07 23
215 6.0 / 5 1 59.5
714 -
. : | —ax #1024 x 27 et
! Phillips Head Machine 1
Screw
! ®© © ,
13
= [38.0 -l
- 4 -—
101.
Figure 2
1. Position the 297M Mounting Brackets and mark the hole locations onto the frame
2. Drill and tap the hole locations

3. Mount the brackets with the proper combination of #10-24 x 2" Flat Phillips Head Machine Screw and #8-32
x 1-1/2" Flat Phillips Head Machine Screw
4. Install the soffit applied hardware into the brackets

Rev 1, Rev Date: 02/06/23 Always visit www.hagerco.com for the latest Installation Instructions Page 1 of 2

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995



297M & 297N Mounting Bracket
H AGERQ Installation Instructions
I-TA01366

COMPAMNIES

297N - Mounting Bracket for Soffit Width Over 2-1/4"

Contents: 297M
QTY:

1. 297N Mounting Bracket 2

2. #10-24 x 2" Flat Phillips Head Machine Screw 8

NOTE: BAR STOCK (NOT INCLUDED)
WITH THRU HOLES MUST BE Between D F D F
INSTALLED TO FILL IN THE GAP——\ 2-1/4" l——LDoor Frame . L~ Door Frame
57.2] ver
"7 - 4.‘ [7(35.2]
* [76.2] +
3L ‘ / ﬁDoor 3 ‘ / ,ﬁDoor
[24.5] 7 [24.5] 7
f }
297N—/ 297N—/
Door Door
Coordinator Coordinator
Soffit Soffit
Door Coordinator Door Coordinator
Strike Strike
Figure 3
4L
43'.
[ 32 - 16
126.4 8.0 -l ™
I I i
i5. 1%‘.1’”
Lo 156 405
25" [49s | —ax #10-24x 2" Flat  ,31.
67.0 Phillips Head Machine 7;’5 1
‘ @ d Screw .
' © 0o |
I
- M ; el
Figure 4
1. Position the 297N Mounting Brackets and mark the hole locations onto the frame
2. Drill and tap the hole locations
3. Mount the brackets with 8ea #10-24 x 2" Flat Phillips Head Machine Screw
4. Install the soffit applied hardware into the brackets

Rev 1, Rev Date: 02/06/23 Always visit www.hagerco.com for the latest Installation Instructions Page 2 of 2
HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995



